
A 
B 

BMW S 1000 RR '19 

AG0109

SPECIAL PARTS

A

B

71204CKZ    Full System Competition Race-Tech, Inox Collectors

71205CKZ  Full System Competition Race-Tech, Full Titanium

Collector n°1 
Stainless Steel 5211650

Titanium 5214789

Collector n°2 
Stainless Steel 5211651

Titanium 5214790

Collector n°3 
Stainless Steel 5211652
Titanium 5214791

Collector n°4 
Stainless Steel 5211653

Titanium 5214792

Mid Pipe 4:2:1
Titanium 5748339

Spring
3416020

Link Pipe
Titanium 5740418

Rubber
3240015

Bushing
5165705

Rapid-Nut
3245005

Bolt
3048004

Lockwasher
3640002

Lockwasher
3640001

Lockwasher
3640004

Screw TCEI M8X25mm
3896004

Screw TBEI M5X10mm
3896023

Screw TCEI M8X16mm
3896096

Screw TBEI M6X16mm
3896146

Bushing
5165801

Clamp
5490007

Flange
5510085

Heat Shield
5704165

Clamp
5846389

dB-Killer
5930192

Carby Cap
5704112

Rivets
3608021

Sticker
3884078

Sleeve
5260474

 Sound-absorbant material
5690056

Rear Assembly
5009815

Rivets
3608011

Strap of Rivets
5495034

Front Assembly
5035373

Strap of Rivets
5495034

Rivets
3608011



B ( 2 : 1 )

BMW S 1000 RR '19

BL1240

SPECIAL PARTS

B

71205CP     Full System Competition, Full Titanium

71204CP   Full System Competition, Inox Collector

71205CPF    Full System Competition Full Titanium

71204CPF   Full System Competition, Inox Collector

End cap 5010105

End cap with mesh
only for CPF

End cap only for CP
 5010064

Ø4.0 rivets
3608024

Lambda sensor M18
 5175001

Lambda sensor M12
5175005

Spring
3416020

Collector N°1
Stainless Steel 5211650

Titanium 5214789

Collector N°2
Stainless Steel 5211651

Titanium 5214790

Collector N°3
Stainless Steel 5211652

Titanium 5214791

Collector N°4
Stainless Steel 5211653

Titanium 5214792

4 in 1 Link pipe
Stainelss steel 5750705
Titanium 5748339

Bushing 5165801

Flange 5510085

Sleeve 5261306

Exhaust
5891374

Db killer
5930274

Screw M6x8
3896336

Bolt
3048004

Screw M8x45
3896020

Lockwasher 3640004



A ( 2 : 1 )

BMW S 1000 RR '19

DC0038

SPECIAL PARTS

A

71206CP      Competition Full System - Inox Collectors

71207CP      Competition Full System - Full Titanium

71206CPF   Competition Full System - Inox Collectors

71207CPF   Competition Full System - Full Titanium

Mid Pipe 4:2:1
5750705

Spring
3416020

Bushing
5165801

Flange
5510085

M18 Lambda Sensor
Plug Bolt 5175001

M12 Lambda Sensor
Plug Bolt 5175005

M8x45 Screw
3896020

Washer
3640004

Self-locking M8 Nut
3048004

dB Killer
5930274

M8x6 Screw
3896336

Ø4mm Rivet
3608024

Front Assembly
5035563

End cap with mesh
only for CPF

End cap 5010105

Sticker
3884078 Sound absorbing

material 5690055

Collector n°1:
5211650 (Inox)

5214789 (Titanium)

Collector n°2:
5211651 (Inox)
5214790 (Titanium)

Collector n°3:
5211652 (Inox)
5214791 (Titanium)

Collector n°4:
5211653 (Inox)
5214792 (Titanium)

Rear Assembly
(Plain Cap, CP only) 5010064

Muffler
5891382




